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U.G. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2022,

Fourth Semester
FEconomics

Non-Major Elective - ECONOMIC DEVELOPMENT
OI* INDIA

(IFor those who joined in July 2020 oﬁly)
Time : Three hours - Maximum . 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
.Choose the correct answer :
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The term economic growth is explained by
(a)  Structural changes in the cconomy
(b)  Increase in the per capita production
() Increase in the per capita income
(d) All of the above
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Which of the following is not an indicator of an
cconomically developed nation?

(a) High levels of literacy
(b) Low dcath rate

(¢) High per capita income

(d) A high proportion of labour in the primary

sector
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Green  Revolution in India has been most
guccessful in the case of

(a) Wheat and rice

(b) Wheat and potato

(¢) Mustard and oil sceds
(d) Tea and Coffec
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Land reforms refers to

(a) Protecting land from soil erosion

(b) Abolishing the defective structure of land
holding

(¢) Preservation of land

(d) Reclamation of land
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What is the most mmmkable aspect of Indian
. industry since independence?

" (@) More employment opportunities
(b) Increase in production
(¢) Capacity utilization
(d) Diveréiﬁcation '
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Which among the following is not a cause of
sickness of industrial units in India?

(a) Obsolescent technology
(b) Labour problems
(c) Faulty location
(@) Lackof capital account convertibility
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" (fF) 1 loWAE 2015

"What purchase of Indian GDP is contributed by -

the service sector?
(a) 25% of GDP

(b) - 60% of GDP

(© 53% of GDP
(d) 49% of GDP
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Which of the following sector does not comes under
the service sector in India?

(a) Realestate
(b) Transport
(©) Restaurants & hotels

(d) Formation of electronic television
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In India G i 12, ' |

n ‘ndla GST became effective from - .12, (@ uaewl Yold ubblu @bl e,
(a) 1%April, 2017 () 1= January, 2018 o Write a note on green revolution,

() 1%July2017 (@) 1%March 2015 ' S Or

10. @pdurede slusdu  vaemwfupay  Hepey () Plovs Siflmssnsallan Conbabimmat sayo|b-

UQuUTWS BLHSSI State the objectives of land reforms.

—~——— s

2014 - )
(o) 201 (%) 2020 18, () @pHun Qurersry  asbSs
(@) . 2011 (F) 2016 Osmflaosafar Lkims elaréEs.

The latest demonetisation event- in India took ‘ Eé)iggictiziefsgineorft industries in Indian
place in ' w- L S

(a) 2014 @®) 2020 - . B : oo

. : . () @pSwrelld Qsmpdgmm Grmiugsnen
(c) - 2011 (d) -.2016 C GMERTRISEET QT BIEET.

Examine the reasons for Industrial Sickness

PARTB— (5 x5=25 marks) . .
. . in Ix_ldla

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words. 14 (@) @pduredd GeummeumiLiey 2 maunss GGg

WHMD ST QearLfem Lkiens Ty BI&ET.

H : '(%D Glurr_@mrrg,my LB qenprd aeers ' ~ Examine the role of RPO and Call Centre to
What do you mean by economic planning? generate employment in India.
OF , ?7{ L Or -

. I . : ; C smeud Qsmi@pLUS Sepuldn
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Cagugmed Ganchsmaid oo e
" Distinguish between 'Development' and " | Com ment the fecent development of IT

Growihs . Sector in India. .
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16..
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Detail the long-term objectives of five-year
plans in India.

Or -
Hfw Qurmermgrys 'G]a;rraiima;uﬁleh ST&H&D LHH
CT(PSHIG.
Discuss in detail the impact of new economic

policy.
PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(<21)

(<)

QunwertmsTy  Guemi&ES  ererpmed  GTemen? Qm

BTL .67 - Qum@searmgmy cueTiElenws
sjarell (Heusnsamer uGeaum (penpEsamens gl
et sab. .

What is economic development? State and
explain  the  different methods  of
measurement of economic development of a

country.

Or

QummeTmsTy eueTiESluden SenLaeT wreneu?

. What are the obstacles of Economic

Development?
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17.

18.
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What are the factors contributing to low
agricultural productivity in India?

Or

. @pdws QurserTsTysSledr efleusmus g,]as;,muﬂ]s&r

UBIENS DLIJTL|RISET.

Examine the role of .agriculturé' sector -in
Indian economy. ‘

Caume aumilyseer QumEs @@ BIiGHE
Afw . ereleorenr  Qgmfldadr  pslwid
-aleundlgsaib. o

Small-scale industries are important for a

country .to increase employment

opportunities — Discuss.

Or -
@sdu Asmflogop sopds Gsmiogep
AHufer  Cyeneuwimar Mwoieenr  FHwns
u@uumie) Qediykiger.
Critically analyse the need for industrial

finance in Indian industrial sector.
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20.
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Examine how service sector contributes for
economic growth. What are the achievements
of service sector in India?

Or

1991 s @pﬁunaﬂm uaGeumy Gsaeus
gsleopaailan Qewuadnenatt updl efleurdlssaid.

Discuss the performance of various service
sectors in India since 1991.

@idwmallen DHSTETH S _rusafler
Gewddpaa QgaflejuBssalbd. o

‘Elucidate the performance of five-year plans

in India. _
Or
@rHwt QumesTysms

wrhilueUusSHETE NITI <2, Cwnsdlen
slBLgHw cuearTEledw omuymseT.

‘Examine the recent development of NITI -

Aayog for transforming Indian economy.
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